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Ao =2 2A o
YT D MBYE NHABAEL (BY S
AstHAEEOIS AL )
% - 4 14
SA - B -G (3H) - NEAY %Eﬁ HR=2
= 43,000
= 12,900
Osd 2JF MEj22X<Y XY - = 55,900
= 43,000
=} 12,900
B 4P BIMHSHSLR EH (20 750,000 750,000
2 500,000
& 250,000
403 XIS HSK =0l & 750,000 750,000
2 500,000
& 250,000
01 XIS A =2E X 750,000 750,000
Ogst2d &8 Z2IIME2s ez 750,000
= 500,000
= 250,000
==X ZIIMHEISSESZ LAY 600,000 600,000
= 400,000
& 200,000
403 XX SHHM S X201 A 600,000 600,000
= 400,000
o= 200,000
01 XIS AES2E X 600,000 600,000
QU2 LA 2IIMESsERIZ 600,000
= 400,000
= 200,000
24 2N SSIEYZ ZHAMY 300,000 300,000
= 200,000
& 100,000
403 XX SHHS K20 & 300,000 300,000
= 200,000
& 100,000
01 XIS A=Z2E X 300,000 300,000
S2A ZIIMESSEYE X4 300,000
= 200,000
o=t 100,000
NZE 2O M 2SR TLAY 300,000 300,000
2 200,000
= 100,000
403 XX SRS K 20| & 300,000 300,000
= 200,000
& 100,000
01 MXHHNE2BE =X 300,000 300,000
OANZHE Z2DIMESsteetz2 X4 300,000
= 200,000
& 100,000
QoA TAIME 5 =AY 4,410,000 3,920,000




AZ: BHMYR SN BZIMD
M AYE D MTAQAYS NABATH(BLLS/T )
e NHEIEH0SAE (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
Jl 4,410,000
403 MtXISHHSA=0l& 4,410,000 490,000 3,920,000
J| 4,410,000
01 XM A2E X 4,410,000 490,000 3,920,000
O TAIME =5 SJAY 4,410,000
J| 4,410,000
CHAIZNXNEZ2E 22 130,000 130,000 0
= 100,000
< 30,000
308 XXIELHSOIA 130,000 130,000 0
= 100,000
< 30,000
01 AXHHBILEES 130,000 130,000 0
OHL=INEZSE 29 130,000
2 100,000
= 30,000
SASMENH RS 100,000 0 100,000
= 100,000
403 A X EHHS 20l A 100,000 0 100,000
= 100,000
01 X SHMA=LE L 100,000 0 100,000
OZALMEHA(SY =X132H) ZEMY 100,000
= 100,000
NSt HLMEfAHE A 3,000 3,000 0
AHESSd d=0s A 3,000 3,000 0
307 glz2tol & 3,000 3,000 0
02 QIREA A AR B X 3,000 3,000 0
ONHES3A HMIUa &4 3,000
O sAEES Y 2e| 2,546,014 2,683,547 A 137,533
= 1,329,000
< 1,217,014
OFMSS TIoH0) A 497,900 535,600 A37,700
= 383,000
< 114,900
403 RXISHE X =0 & 497,900 535,600 A37,700
= 383,000
= 114,900
01 XM A2E X 497,900 535,600 A 37,700
OO == IIoHHZAS 497,900
= 383,000
< 114,900
OfE = TaHHYAS (AKX 2IE) 39,000 0 39,000
= 30,000
< 9,000

~




SERE EE A B
Mo 22cn MBAYS UHHAEA(BARS/TO)
CHol: O S AR EU 2 o aw)
2. RA - EH B (S) - HEAY - B il el
308 X EHSOIA 39,000 0 39,000
= 30,000
< 9,000
01 HIXNHHBHNEELES 39,000 0 39,000
OOt =2 TaHol A (AKX 2l 8l) 39,000
= 30,000
< 9,000
OtM=2 OoHE24a X3 259,800 259,800 0
308 XXM SO A 259,800 259,800 0
01 IXNSHHBMNEES 259,800 259,800 0
Otd=s2 Hoi24a XN 259,800
OfMES2 O Xe X& 299,014 299,014 0
308 XtXIEHH SOl A 299,014 299,014 0
01 AXNHHMBAMNEES 299,014 299,014 0
OOt =s= moigRe XA 299,014
Ofd=s2 X2 2eldlH 298 XA 500,000 493,333 6,667
= 150,000
< 350,000
308 A EHHSOIA 500,000 493,333 6,667
= 150,000
< 350,000
1132 SoHUHSZHEAEALS I 500,000 493,333 6,667
onMssxz2eldH 29 XA 500,000
= 150,000
< 350,000
O SAZE BESES 2,000 2,000 0
202 o4dl 2,000 2,000 0
01 = LH o4 1l 2,000 2,000 0
OMSAEEZSEE 2,000
MaXIel #2012 XI& 66,000 44,000 22,000
= 45,000
< 21,000
308 XtXIEHH SOl A 66,000 44,000 22,000
= 45,000
< 21,000
01 AXNHHNBANEES 66,000 44,000 22,000
OMAXIEe E&I12 XI& 66,000
= 45,000
< 21,000
MEH e M= EXIAS 214,500 182,000 32,500
= 165,000
< 49,500




I EIE SN I
FM: AL6tD MPAQJE= NASATLH(BEAES/AA)
Sl opMSASEsY R (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
308 X EHSOIA 214,500 182,000 32,500
= 165,000
< 49,500
01 HIXNHHBHNEELES 214,500 182,000 32,500
OMEI A nEg HES E XA 214,500
2 165,000
< 49,500
BERAVNES SE23 ZEMY 7,800 7,800 0
= 6,000
< 1,800
308 XXM SO A 7,800 7,800 0
= 6,000
< 1,800
01 AXHHBILEES 7,800 7,800 0
ESAINS SE2s MY 7,800
= 6,000
< 1,800
MENARHAL SXAMY X 660,000 660, 000 0
= 550,000
< 110,000
403 REXI S M S K= 0l & 660,000 660,000 0
= 550,000
< 110,000
01 X SHHMA=2LE L 660,000 660,000 0
OdSTUHIAZIAE XM X 660,000
= 550,000
< 110,000
Ao 2o 2 HIIZS 2eldst 18,225,066 14,510,192 3,714,874
= 14,604,743
=) 3,620,323
=g Hol=s2el 2,697,666 2,117,692 579,974
= 1,233,743
=) 1,463,923
S%A8IE L2HBA(HS) 152,673 92,092 60,581
308 AHAIEHHSOIA 152,673 92,092 60,581
11 BSOS Z AN IS A 152,673 92,092 60,581
Os%4&JI% =H24(Us) 152,673
SEHHE =HEH =2 660,000 644,850 15,150
= 220,000
< 440,000
308 XXM SO0 A 660,000 644,850 15,150
= 220,000
= 440,000
01 IXNHHBNEES 660,000 644,850 15,150
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U
A
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o
Ivd
04

a3 BHMY = 2
M GEo E & HII=S 2eldst
el U E=sE HolS2el (=& J)
R.RA-ZE-G(HH) - HRAY - BES il H D = 2t

O=sZHHE =AHA243 660,000
= 220,000
< 440,000

St MDD HSAE(223) 214,000 231,000 A 17,000
= 214,000

308 XXIEtH S0l A 214,000 231,000 A 17,000
= 214,000

01 IXNHHBANEES 214,000 231,000 A 17,000
Odt&at? A0 HstA(22E) 214,000
=2 214,000

StEot? MAYD| HSAML(BFE) 116,000 31,000 85,000
= 116,000

308 XX EHHSOIA 116,000 31,000 85,000
= 116,000

01 AXSHBLELS 116,000 31,000 85,000
Odtdat= )| HSAML(2FF) 116,000
= 116,000

259 ot HSALS 13,000 22,000 29,000

308 XIS SO0 13,000 22,000 29,000

07 AXSHM2ARES 13,000 22,000 A 9,000
O=zZ2%Y ot&dt7 F3AY 13,000

HPIH NG X XJAS 30,000 30,000 0

403 XAXISHM S X201 A 30,000 30,000 0

01 XXM A2E = 30,000 30,000 0
OsdeldE=HE XX ALY 30,000

2z suUote XX 187,500 180,000 7,500
= 187,500

403 XAtXISHM S K201 187,500 180,000 7,500
= 187,500

01 IXSHMA=2EER 187,500 180,000 7,500
ONEgE sUote 4xXX&A 187,500
= 187,500

sSt=HJI=& 3 A3l 5,000 5,000 0

201 B2l 5,000 5,000 0

02 8323l 5,000 5,000 0
Ost=HIl=gsal Asltl 5,000

SsTotY K& 89,743 111,000 AN21,257
= 89,743

403 XAXISHM S K201 A 89,743 111,000 AN21,257
= 89,743

01 XXM A2E = 89,743 111,000 AN21,257




EENHE SN BT
e Zof & HIIZ 2eldst
ATE=ed Hils2el (&)
2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
OsZHHE Ssdoty a5 89,743
= 89,743
ol el MHEAIE LIS AHI L HE S 459,750 465,000 A5,250
= 306,500
< 153,250
403 UtXISHH S0l & 459,750 465,000 A5,250
= 306,500
< 153,250
01 XM A=2EE 459,750 465,000 25,250
ONMHE S HIISHE AL HES ALY 459,750
= 306,500
< 153,250
ANEzst(HEE) 243 AMY 470,000 305,750 164,250
403 A X EHS =0l A 470,000 305,750 164,250
01 X EHHMA=E L 470,000 305,750 164,250
Oz (MES )L ALY 470,000
=S AlEAHE =& 150,000 0 150,000
201 LB-2d| 4,000 0 4,000
01 At 22l 4,000 0 4,000
OHMEetN EId =¢ 4,000
207 A RO H| 146,000 0 146,000
01 89 146,000 0 146,000
OHM2x Sd3=% NJ=SAEAHE =8 146,000
Ct=0IEAIE 13183 0171 ANIEAY 150,000 0 150,000
= 100,000
< 50,000
308 XtXIEHHSOIA 150,000 0 150,000
= 100,000
= 50,000
01 HXNHHBHELS 150,000 0 150,000
OUE0IEANE 181E3 =011 AlEAY 150,000
= 100,000
< 50,000
HIOIZMelAlE &3 15,527,400 12,392,500 3,134,900
= 13,371,000
< 2,156,400
HEAE &X 5,011,000 3,092,900 1,918,100
= 4,400,000
< 611,000
403 UHXSHHSA=0l& 5,011,000 3,092,900 1,918,100
= 4,400,000
< 611,000
01 HXSHMA2E X 5,011,000 3,092,900 1,918,100




AR BFNYR SN BT
M GEo E & HII=S 2eldst
S9: HIISHRANE 5 (29l 8)
AR .24 B BAGEN) - NRANY - BES Ol &k o8 il HlnE2
OFF M20MBX =& AHY 3,211,000
= 2,600,000
< 611,000
O2z SLHEANE SEAY 400,000
= 400,000
Otz MEHIIES WAL QREH) &XAY 1,400,000
= 1,400,000
e X Fbl 296,000 0 296,000
= 296,000
403 MtXISHHE =0l & 296,000 0 296,000
= 296,000
01 XM A2 X 296,000 0 296,000
OSH=Z HIAMUMEAIE HHALY 296,000
= 296,000
A2AE &X 5,796,700 3,816,600 1,980,100
= 4,700,000
< 1,096,700
403 XIS E X201 & 5,796,700 3,816,600 1,980, 100
= 4,700,000
< 1,096,700
01 R SH K22 = 5,796,700 3,816,600 1,980, 100
OSFA HEHIIE 22AE SEAY 2,960,000
= 2,400,000
< 560,000
OHMEA MEHIIS A22ZXMelANd SHEAS 1,356,700
= 1,100,000
< 256,700
Otz MERHIIS A2AE XA 1,480,000
= 1,200,000
= 280,000
sl dH &5 4,201,100 891,300 3,309,800
= 3,795,000
< 406,100
403 MHXSHHSA=0l& 4,201,100 891,300 3,309,800
= 3,795,000
< 406,100
01 HXSHMA=E X 4,201,100 891,300 3,309,800
OfH - SLE2YHIIS HESLHEANE SLEAM
A 3,955,600
= 3,596,000
= 359,600
OFFA == THEE HEAE AFAY 245,500
= 199,000
< 46,500
SAZE HIISHelAE &X 222,600 2,191,700 21,969, 100
= 180,000




I EIE SN I
I qEe o Y HIlE el
e HIISXHAIE &= (2 &HH)
. i - o
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
= 42,600
403 XX SHHS K20 & 222,600 2,191,700 A 1,969, 100
2 180,000
= 42,600
01 XIS A=Z2E X 222,600 2,191,700 A 1,969,100
G SAZSZFHIIZ SSHEAIE EXA
o 222,600
2 180,000
= 42,600
HMSHAY (I ™M) 78,340 79,663 N 1,323
JlE&dl 78,340 79,663 N 1,323
Jl2 &4l 78,340 79,663 N 1,323
201 et d| 17,740 16,853 887
01 AP 2t 2| bl 17,740 16,853 887
OJIgfx=Zl| 7,240
[OPIE==2=1l 10,500
202 044l 37,800 35,910 1,890
01 2L Y| 37,800 35,910 1,890
OJI2 0yl 37,800
203 SR F & 22,800 22,800 0
01 JI22HE Y RFAH| 6,600 6,600 0
OstA A =2 & 6,600
04 EANSH LR F=XH| 16,200 16,200 0
Ostz3 &=} 3,600
OJIZto| 4,200
O£ AJ 2l 4,200
Odte = Xl ot 4,200
WEESIEEE-Eny 38,000 38,000 0
WEAHAHXI= 38,000 38,000 0
LHEAHH K= 38,000 38,000 0
705 Ol==2 2| S 4AE 38,000 38,000 0
04 Al - EXYHED| S0 2=20| XHat=t 38,000 38,000 0
OS2MallE R A (2020) 38,000
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A= g3z = SN =
M HREZBIN=E L X720y
Sl DSBS (S ¥ XS CERED
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
EBFAZOIEN Jt2It+ ClHMEE Xz 107,000 144,600 A 37,600
J| 107,000
308 AHAIEHHSOIA 107,000 144,600 A 37,600
J| 107,000
01 HXNHHBHELS 107,000 144,600 A 37,600
OEHAZQEN 29 107,000
J| 107,000
s S$EAZQER QAMEE Rz 4,400 9,000 24,600
J| 4,400
308 XXM SO0l A 4,400 9,000 A 4,600
J| 4,400
01 HIXNHHBNEES 4,400 9,000 24,600
OXsx HAZQOIERW QHMEE Xa 4,400
J| 4,400
BZIIZANE BasSEE20Y 932,500 948,000 A 15,500
J| 932,500
403 Mt S E X201 E 932,500 948,000 A 15,500
J| 932,500
01 AXSHHMA2E = 932,500 948,000 A 15,500
OEIZANE BASEHEZOH 932,500
J| 932,500
JIZEHst HSHE & (AMZ) 350,000 0 350,000
J| 350,000
308 A EHHSOIA 350,000 0 350,000
J| 350,000
01 HXNHHNBHEELS 350,000 0 350,000
OJI=8s s =8 350,000
J| 350,000
S22 SHEZeN $#AsE X2 500,000 0 500,000
J| 500,000
403 XM S =0l & 500,000 0 500,000
J| 500,000
01 HAXSHMA2EE 500,000 0 500,000
SEREE SEZ2UN EASE N 500,000
J| 500,000
OLMIH R N2 162,548,345 119,440,972 43,107,373
= 132,474,930
< 30,073,415
=2 NS FOHAA 34,393,800 22,870,000 11,523,800
= 30,727,500
< 3,666,300
403 MtXISHHE X201 H 34,393,800 22,870,000 11,523,800
= 30,727,500




SN = S5 JE0
WRETIISHE U P20 Y
DMK M2 (2 &HH)
- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ofl At o4 %Ei HR=2
= 3,666,300
01 XIS A=Z2E X 34,393,800 22,870,000 11,523,800
= AXNSIX PROKR 34,393,800
= 30,727,500
o= 3,666,300
SAXNEX SEDZ} 2= 9,100,000 4,400,000 4,700,000
= 6,500,000
= 2,600,000
403 XX SRS R 20| & 9,100,000 4,400,000 4,700,000
= 6,500,000
& 2,600,000
01 MHXSHAHXNE2E X 9,100,000 4,400,000 4,700,000
=ANSA ST 25 9,100,000
= 6,500,000
= 2,600,000
SHARA ISIIA H2ZALY 37,524,760 28,756,354 8,768,406
= 30, 158,000
& 7,366,760
308 AHXIEHSOIA 35,613,760 26,468,354 9,145,406
= 28,688,000
& 6,925,760
01 AIXSHMENMNEX= 35,613,760 26,468,354 9,145,406
LSEAKX 2D HXAYE X 15,598,080
= 12,998,400
=} 2,599,680
OLZHERX HEsItA MZEX =X 15,446,080
= 11,881,600
& 3,564,480
OAEI|H DPF 2= XI& 792,000
= 660,000
& 132,000
OAEIAH AXWH X 3,777,600
= 3,148,000
= 629,600
403 XX SHHS K20 & 1,911,000 2,288,000 A 377,000
= 1,470,000
o=t 441,000
01 XIS RS2 X 1,911,000 2,288,000 A 377,000
OLPG st=2 X M X2 X 1,911,000
= 1,470,000
& 441,000
BE0|12 AMEX s A 22 1,657 0 1,557
= 1,200
& 357
308 XHXIGH SO0l & 1,557 0 1,557
= 1,200




A= g3sE= 2M JFUOID
B RRBTIIESE L NPS L0
el DINMEX M2 (Sl & &)
22N B S(AA) - HRAY - BYS 0l &t o il HDEZ
=) 357
01 AXHHBAEES 1,557 0 1,857
OE8JI12t 3WEX dsKA 2l 1,557
= 1,200
< 357
HAHJAXE FUH EX 382,200 257,400 124,800
2 294,000
< 88,200
403 A X EHS K= 0l A 382,200 257,400 124,800
= 294,000
= 88,200
01 HXSHH =X 382,200 257,400 124,800
OFHIAIE 2L EX 382,200
= 294,000
=) 88,200
S DNE=DN 1 DR 75,607,600 59,240,000 16,367,600
= 60,234,000
< 15,373,600
403 AXHHSXH=0lA 75,607,600 59,240,000 16,367,600
= 60,234,000
< 15,373,600
01 AXISHHA =22 = 75,607,600 59,240,000 16,367,600
O&IIXtES X FOHAIA 75,607,600
= 60,234,000
S 15,373,600
HII0IEX ESAtY 405,000 270,000 135,000
= 405,000
403 A X EHSXH=0l A 405,000 270,000 135,000
= 405,000
01 X SHHA=2E = 405,000 270,000 135,000
O&IIOIEX ESAY 405,000
= 405,000
BRI 22 50,000 0 50,000
= 50,000
403 TtXI M S A=01A 50,000 0 50,000
= 50,000
01 XXM 22 = 50,000 0 50,000
OdEIIZ2EI| ESAL 50,000
= 50,000
o210l S5t X2 XA 1,046,500 1,111,500 65,000
2 805,000
< 241,500
403 AXHHSXH=0lA 1,046,500 1,111,500 A 65,000
= 805,000
& 241,500
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40 5 4

=

AF2cstol e

J
T
A

2 =M

F-RA-BH-SAEA) - HRAY - BAS il HI RS2
01 HXSHH =R ,046,500 ,500 A 65,000
OOelol Sstatet LPGR & & XIS AL ,046,500
2 805,000
< 241,500
C2MHI AT N2 AL ,370,000 ,000 1,170,000
= ,370,000
403 TtXI M SA=01A ,370,000 ,000 1,170,000
=2 ,370,000
01 REXISH AR 2 X ,370,000 ,000 1,170,000
OZZMHIMSIK H2AAML (E2H
2Hl E2X) ,370,000
= ,370,000
IIEE N=sA22 E2AY ,379,376 ,488 273,888
= . 149,480
& 229,896
403 TtXI M SA=01H ,379,376 ,488 273,888
= . 149,480
S 229,896
01 HXSHH =L E ,379,376 ,488 273,888
ONEE8 N=sA22d 2ES5AE 1,379,376
= , 149,480
S 229,896
=24 2B s44Hl NAAY 95,285 830 448,545
2 80,750
S 14,535
403 AR SHHMSTH=0lH 95,285 ,830 N448,545
= 80,750
£ 14,535
01 XM 22 X 95,285 ,830 A448,545
OFzA |R3J| al=£H XA 95,285
= 80,750
= 14,535
NSI 2EME SZALYE RH(EX) 910,000 ,500 617,500
= 700,000
S 210,000
403 TR SHHSA=01H 910,000 ,500 617,500
= 700,000
S 210,000
01 HXSHH=ExE 910,000 ,500 617,500
OXNSA 2dMe A Mt 20 £X 910,000
= 700,000
£ 210,000
NEX SHHUE SHSAAY 29 52,267 1400 50,867
201 ety 47,688 ,400 46,288
02 222 47,688 400 46,288




= SN =

R.RA-ZE-G(HH) - HRAY - BES il H D = 2t
O28H s H[AAH SRS 1,400
OX=sx 2HMe SHEALAE STES 46,288
405 KH&HF SHI 4,579 0 4,579
01 XAt 2 S FH S| 4,579 0 4,579
OAZ2SIIstAH F04 - X 4,579
[MHX BI22)] T2 29 130,000 0 130,000
307 2Iztol ™ 130,000 0 130,000
02 RIZFE MM E X 130,000 0 130,000
ODIMYX Ht2gd T8 29 130,000
[MISHX =017 &2 23 100,000 0 100,000
307 glz2+ol & 100,000 0 100,000
02 QIZtE M AHEE 100,000 0 100,000
OO0IMEHX =017 HE2 23 100,000
tHorerd i 7,818,903 6,591,438 1,227,465
= 6,123,915
= ,694,988
=SASSEI|D| 2Z2eldl A& 212,296 212,038 258
= 191,520
< 20,776
308 XX EHSOoIA 212,296 212,038 258
= 191,520
< 20,776
01 AXSHBELS 212,296 212,038 258
O==Xs=3I0 2g2ecd XA 212,296
= 191,520
< 20,776
ENsEFZINI X - 2F2eld N& 262,607 90,400 172,207
= 232,395
< 30,212
308 XXM S0 A 262,607 90,400 172,207
= 232,395
< 30,212
01 AXNSGHBLEES 262,607 90,400 172,207
O=&aX=s=&I|J| &X - 2L 22ldl X& 262,607
= 232,395
= 30,212
AEAGE YXAIE X XA ,350,000 900,000 450,000
= 750,000
= 600,000
402 2I2H X201 M ,350,000 900,000 450,000
= 750,000
= 600,000
02 It 2AILS EZ (01 E TS ) 1,350,000 900,000 450,000
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AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
OLAZDANGE SXAE XX 1,350,000
= 750,000
= 600,000
AFDAIHE BEXIAIE AX KR (AZ) 5,730,000 5,389,000 341,000
= 4,750,000
= 980,000
403 XSS K =0l & 5,730,000 5,389,000 341,000
2 4,750,000
& 980,000
01 AIXISHMA=2E X 5,730,000 5,389,000 341,000
OLAHBAISE BXIAIE XX 5,730,000
= 4,750,000
& 980,000
SAANGE FEHE A& & 90,000 0 90,000
= 50,000
& 40,000
402 SI2FXHE0| ™ 90,000 0 90,000
= 50,000
o= 40,000
02 BIZEXI2 ALY EX(0IETHS) 90,000 0 90,000
OZSAAMNGgHE F3HAHE M8 XS 90,000
2 50,000
= 40,000
ZESAANLE BEAZ ME XA (Al2) 174,000 0 174,000
= 150,000
= 24,000
403 XX SHHS K20 & 174,000 0 174,000
=2 150,000
= 24,000
01 XIS A=Z2E X 174,000 0 174,000
OZSAANGE A2 A& X (A2) 174,000
2 150,000
o= 24,000
MEEA A 7,197,721 6,931,625 266,096
= 5,311,324
= 1,886,397
Mool RFHUHHE(E) 20,000 20,000 0
308 XAHXIGHHM SO0l & 20,000 20,000 0
01 IXHHIMNEXS 20,000 20,000 0
OMsIol FHUM(HE) 20,000
=dO0lE M2l - g A& 6,813,721 6,629,350 184,371
= 5,241,324
o 1,572,397
308 XX SHHSOIA 6,813,721 6,629,350 184,371
= 5,241,324
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40 5 4

224 ZB SN - HRAY - BES 0l &t o il Bl RE2

=& Hl 66,648 58,317 8,331

= Z 4l 66,648 58,317 8,331

201 Let24d] 30,288 26,627 3,661

01 At 22/l 30,288 26,627 3,661
OJle=+=&Hl 14,688
OPIE=1i:] 15,600

202 44l 36,360 31,690 4,670

01 S LHOIYI 36,360 31,690 4,670
OJlEdtl 36,360
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A= g3z = 2N =R
HE: o2 20| YXE #=E 52
Chelt 5B +HBAR W1 AN =L CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
Jl 2,857
OXtE, & el 10,443
J| 10,443
202 (44l 1,100 1,100 0
J| 1,100
01 SLHOYI 1,100 1,100 0
Odgeod 2 AEst| 1,100
J| 1,100
AAESsH M Ax 470,000 0 470,000
405 XtAHE SHI 470,000 0 470,000
01 AR ESFH S 470,000 0 470,000
OXNHEsd UM A= 470,000
= =22 EF2 224 63,524 59,870 3,654
J| 56,600
< 6,924
101 @144 Hl 63,524 59,870 3,654
J| 56,600
S 6,924
04 JIZHHZ2XREES 63,524 59,870 3,654
O3L+H 229322 Al 63,524
J| 56,600
< 6,924
HEQIE HZAY 1,905,280 2,614,380 A709,100
= 1,550,500
< 354,780
403 MHXISHE X201 E 1,905,280 2,614,380 A709,100
= 1,550,500
< 354,780
01 X SHHA2E = 1,905,280 2,614,380 A709,100
OHIE2E M2 AL 1,905,280
= 1,550,500
< 354,780
MESHE S2AIS (HEAY) 2,657,000 3,405,000 AT48,000
403 AXIEHHS 20l A 2,657,000 3,405,000 AT748,000
01 X EHHMA=LE L 2,657,000 3,405,000 AT748,000
OHMENStE =AY 2,657,000
NEotset Kot 2eldMA &8 5,100 5,100 0
H=dzE =22 5,100 5,100 0
202 O4dl 4,500 4,500 0
01 = LH 4 Hi 4,500 4,500 0
OY=ds =& 4,500
206 M= Hl 600 600 0
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A2 BINEYR SA AT
HE: o2 20| YXE #=E 52
2 X=Jtsst Kok 2el MH & (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
01 X2 H| 600 600 0
OYH=EME REHSE S4+HA 600
T0l 5D} XSl CHEE 2 22 95,906,964 88,196,344 7,710,620
= 12,927,000
Py 47,247,000
J| 6,986,000
& 28,746,964
SHEMEZ2S HLANS(HEAS) 17,004,464 17,916,000 A911,536
403 XX SRS K20 & 17,004,464 17,916,000 A911,536
01 XIS A=2E X 17,004,464 17,916,000 A911,536
OsHEMEE+ LAY 17,004,464
AR LETAE HSAS (HEAY) 1,810,000 1,962,000 A 152,000
403 XX SRS K20 A 1,810,000 1,962,000 A 152,000
01 IAXESHIE2E X 1,810,000 1,962,000 A 152,000
OALARBETEAE HEAY 1,810,000
NeA=CSHSAIS 50,778,700 42,339,650 8,439,050
Fag 43,153,000
o=t 7,625,700
403 XX SHHS K201 & 50,778,700 42,339,650 8,439,050
g 43,153,000
& 7,625,700
01 XIS A2E X 50,778,700 42,339,650 8,439,050
OXNeaSCSHSAIY 50,778,700
Fag 43,153,000
& 7,625,700
2B LAY 1,027,000 0 1,027,000
Fag 910,000
& 117,000
403 XX SHHS K20 ™ 1,027,000 0 1,027,000
Fag 910,000
& 117,000
01 XIS A=Z2E X 1,027,000 0 1,027,000
OZHH U= HE ALY 1,027,000
Fag 910,000
== 117,000
Nega4+o HaAZS3Y 2FAY 3,550,800 0 3,550,800
hag 3,184,000
o= 366,800
403 XX S M S K201 & 3,550,800 0 3,550,800
Fag 3,184,000
= 366,800
01 XS A2E X 3,550,800 0 3,550,800
OXgasE HAZBZY R2EAY 3,550,800
Fag 3,184,000
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A2 BINEYR SA AT
M 92 20| EXl=s &=8 ==
S9l: T8l RED} OEGlE O NS 2 B3 CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
| < 366,800
AOLE Ngas=E XM 10,634,900 16,154,000 25,519,100
= 9,421,000
< 1,213,900
403 Mt SHHSA=0l& 10,634,900 16,154,000 25,519,100
= 9,421,000
< 1,213,900
01 HIXSHMA2E X 10,634,900 16, 154,000 25,519,100
OADE XNgaxE XA 10,634,900
2 9,421,000
= 1,213,900
NLasE 2H8E S22 HA 2= 1,546,400 410,800 1,135,600
= 1,370,000
< 176,400
403 X SHHE A0l & 1,546,400 410,800 1,135,600
= 1,370,000
< 176,400
01 XM A=2E X 1,546,400 410,800 1,135,600
Ok BU8d E=32MA 25 1,546,400
= 1,370,000
< 176,400
% A2l e A Y 2,283,000 625,000 1,658,000
= 1,890,000
< 393,000
403 A X EHHS =0l A 2,283,000 625,000 1,658,000
= 1,890,000
< 393,000
01 X EHHMA=ZLE L 2,283,000 625,000 1,658,000
OF+=Z fAd2e| HHA 2,283,000
= 1,890,000
< 393,000
e 422 ZLXIA XE 277,500 853,200 A 575,700
2 246,000
S 31,500
308 XX EHSOIA 277,500 853,200 A 575,700
=2 246,000
< 31,500
01 HIXNHHBMNEES 277,500 853,200 A 575,700
OkL®: &2z FUAZA X 277,500
2 246,000
= 31,500
HEXNE H=2 EHEMG 6,986,000 6,768,000 218,000
J| 6,986,000
403 XSS AE201 & 6,986,000 6,768,000 218,000
J| 6,986,000
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AR ENHE 2H AR
B e 20 UXE #=8 59
S9l: TPl DS} BHEGHE QS 2 B3 CERED
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
01 HXSHMA2E X 6,986,000 6,768,000 218,000
OH=XNY H=2 =ZMHLAEY 6,986,000
J| 6,986,000
=222 =2 8,200 8,200 0
201 -4 7,000 7,000 0
01 At 22l 6,000 6,000 0
Ot & =2t 6,000
02 =224l 1,000 1,000 0
Ost=4dt+=% &3l 1,000
203 YR =& 1,200 1,200 0
03 A F=XH S =AY 1,200 1,200 0
O=REFINLaFA 1,200
St AE 522 HHE A 24 157,049,656 109,229,000 47,820,656
= 136,986,556
< 20,063,100
NEBaSSHAAE HEAY 2,782,000 300,000 2,482,000
= 2,782,000
403 XIS E X201 E 2,782,000 300,000 2,482,000
= 2,782,000
01 X SHHA2E = 2,782,000 300,000 2,482,000
ONEESSHAUAE HEAY 2,782,000
= 2,782,000
ot=Xceld &X 36,326,000 23,893,000 12,433,000
= 33,336,000
< 2,990,000
403 A X EHHSH20IA 36,326,000 23,893,000 12,433,000
= 33,336,000
< 2,990,000
01 X ESHHMA=E L 36,326,000 23,893,000 12,433,000
Odt=XMelE &= 11,112,000
= 9,488,000
< 1,624,000
Os0EOSot=XS &4 25,214,000
= 23,848,000
< 1,366,000
St=Hel= MHOolS A 8,410,000 4,251,000 4,159,000
= 8,410,000
403 A X EHHS =0l A 8,410,000 4,251,000 4,159,000
= 8,410,000
01 X HHMA=LE L 8,410,000 4,251,000 4,159,000
Odt=HXel=0l S At 8,410,000
= 8,410,000
ot =22 F | 80,905,000 51,604,000 29,301,000
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A= g3z = 2N =R
HE: o2 20| YXE #=E 52
Ol SIACAIM HECR HNE MBHA X4 CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
= 65,480,000
=) 15,425,000
403 X SHHS =0l & 80,905,000 51,604,000 29,301,000
= 65,480,000
=) 15,425,000
01 XM A2E X 80,905,000 51,604,000 29,301,000
Ost=22 FHl 44,232,000
= 35,324,000
< 8,908,000
OZANE=UE 36,673,000
= 30,156,000
=) 6,517,000
St=22 X H| BTLE U= 26,030,000 26,328,000 A 298,000
= 24,823,000
< 1,207,000
403 HXSHHSA=0l& 26,030,000 26,328,000 298,000
= 24,823,000
< 1,207,000
01 X SHMA=E X 26,030,000 26,328,000 A 298,000
Odt=22FH| BTLEU = 26,030,000
= 24,823,000
= 1,207,000
HctotsHMelE & 455,000 964,000 A 509,000
= 426,000
< 29,000
403 MtXISHHE X201 E 455,000 964,000 A 509,000
= 426,000
< 29,000
01 X SHHA2E = 455,000 964,000 A 509,000
OogH?ol=XMelE &X 455,000
= 426,000
= 29,000
LS4 RE BUTA XS 1,440,000 1,889,000 449,000
= 1,108,000
< 332,000
308 MHXIEHSOIH 1,440,000 0 1,440,000
= 1,108,000
= 332,000
01 HXNHHBHELS 1,440,000 0 1,440,000
OkL=ol=22 UM XA 1,440,000
= 1,108,000
< 332,000
A0tEGSH=E ZelMH =29 701,656 0 701,656
= 621,556
= 80,100
403 UHXSHHS =0l & 701,656 0 701,656
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2 mPMuUR M =X 2
H:ogte 20| Uis #=d &=
9 SACAM HECR NS MBHY T4 CER-ED
= — — L=
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
= 621,556
< 80,100
01 HIXSHMA2E X 701,656 0 701,656
OADES=E Z2lXMAH 252 701,656
= 621,556
< 80,100
=g z2tal 720,000 720,000 0
FENHRES E+URES 720,000 720,000 0
TEINERESE+NTRES 720,000 720,000 0
308 XXM SOIA 720,000 720,000 0
02 8+NLF= 720,000 720,000 0
Ox=ZIHEEE=s =R 720,000
HE2AZH (=X ) 63,871 62,094 1,777
Jl2&dl 63,871 62,094 1,777
JlE2&l 63,871 62,094 1,777
201 Let24E] 20,401 19,514 887
01 At 221l 20,401 19,514 887
OJle=+=&Hl 8,326
OJles gl 12,075
202 oddl 43,470 41,580 1,890
01 = LH o4 1 43,470 41,580 1,890
OJl=0tl 43,470
MWResS (=X 2el) 1,687,850 1,602,150 85,700
HEHHX S 1,687,850 1,602,150 85,700
HEHeNH X = 1,687,850 1,602,150 85,700
701 JIEtSI HEEES 1,687,850 1,602,150 85,700
01 JIEteI HE &= 1,687,850 1,602,150 85,700
OXNSTHAANLN SEIH HES 1,687,850
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20228 = =0l & LBHSIH SR ~ SFEAUE=
A2 BINEYR SN ST
MY ANY MENESH
ool MY EERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
At =X 111,920,340 127,958,592 A 16,038,252
= 41,778,739
s 12,166,000
J| 14,098,200
< 43,877,401
JHE MEHE=EH 111,675,126 127,716,237 A16,041,111
= 41,761,179
s 12,166,000
J| 14,098,200
< 43,649,747
AHISEXA 9,098,753 8,764,156 334,597
= 4,633,173
< 4,465,580
MHIFIAE Y 123,900 59,269 64,631
= 82,600
< 41,300
308 XXl EHH SOl A 123,900 59,269 64,631
= 82,600
< 41,300
01 AXHHILEES 123,900 59,269 64,631
OouzlZgNexy 123,900
= 82,600
= 41,300
QLSS 677,297 631,766 45,531
= 387,027
< 290,270
308 AHAIEHHSOIA 677,297 631,766 45,531
= 387,027
< 290,270
01 HIXNHHNBNEES 677,297 631,766 45,531
OYMsaSst 677,297
= 387,027
< 290,270
AASIHS KA 635,168 554,426 80,742
= 362,953
< 272,215
403 MHXISHHE X201 E 635,168 554,426 80,742
= 362,953
< 272,215
01 XM A=2EE 635, 168 554,426 80,742
Oget= I & 635,168
= 362,953
< 272,215
AMSHNEAXZAE 729,424 1,298,500 A 569,076
= 416,814
< 312,610
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AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
403 XX SHHS K20 & 729,424 1,298,500 A 569,076
= 416,814
& 312,610
01 AIXISHHMA2E X 729,424 1,298,500 A 569,076
OYUMENEAHXIAIAL 729,424
= 416,814
=} 312,610
AUAMSSEI|EHXHA 186,958 220,500 N 33,542
= 106,833
& 80,125
403 XX SHHS K20 & 186,958 220,500 N 33,542
= 106,833
& 80,125
01 XIS A =2E X 186,958 220,500 AN 33,542
OLNE KSR A 186,958
= 106,833
o= 80,125
UASMAD| B A 441,672 763,837 AN 322,165
= 252,384
o= 189,288
403 XX S M S K201 & 441,672 763,837 A 322,165
= 252,384
=} 189,288
01 XS A=2E X 441,672 763,837 N 322,165
OLNSMAD|BEERA 441,672
=2 252,384
& 189,288
APQEA MAMNAEEOIHE A& 8,176 10,640 N2,464
= 4,672
o=t 3,504
308 XHXIEHSOIA 8,176 10,640 N2,464
= 4,672
o=t 3,504
01 AIKISHHEMNEXZ 8,176 10,640 N2,464
OArkA MANIEEOIHE K& 8,176
= 4,672
o= 3,504
AST XS MACEL X4 672,000 109, 000 563,000
= 537,600
= 134,400
403 XX SHHS K20 & 672,000 109, 000 563,000
= 537,600
& 134,400
01 MXSHHXE2E =X 672,000 109, 000 563,000
OUSRSMAET X4 672,000
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= 537,600
& 134,400
MNEsstFASTR XM 741,965 965,894 N 223,929
= 494,643
= 247,322
403 XX SHHS K20 & 741,965 965,894 N 223,929
= 494,643
o 247,322
01 XIS A2E X 741,965 965,894 N 223,929
ONgl 283X =4 741,965
2 494,643
=} 247,322
AMNSMACHI] A ABHALSA 2,154,705 1,693,419 461,286
= 1,231,260
= 923,445
403 XX SHHS K20 & 2,154,705 1,693,419 461,286
= 1,231,260
= 923,445
01 XIS A=2E X 2,154,705 1,693,419 461,286
OUAASMACHT ZA AMALS 2,154,705
= 1,231,260
o= 923,445
et AMS T 22 (ELIHEHN) 128,965 103,732 25,233
= 106,207
o= 22,758
308 AMXISHMSOIA 128,965 103,732 25,233
= 106,207
o= 22,758
01 AIXSHMENEXZ 128,965 103,732 25,233
OrEH AAZS THHH 2SI (ELIHFAN) 128,965
= 106,207
= 22,758
A AAS THHHZEZI(KIIEHIZ2) 427,435 499,956 NT2,521
= 352,005
& 75,430
308 XHXIEH SOl A 427,435 499,956 NT2,521
= 352,005
& 75,430
01 AIXISHHEMNEX= 427,435 499,956 NT2,521
OREAH AAS THHI 22 (SI1EHI2) 427,435
= 352,005
o= 75,430
AMZE AR SERSHE 300,000 900,000 A 600,000
= 250,000
= 50,000
403 XX SRS K 20| & 300,000 900,000 A 600,000
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| = 77,820
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= 207,560
== 93,402
403 XXM S X201 300,962 198,302 102,660
2 207,560
< 93,402
01 XXM A2E = 300,962 198,302 102,660
OXtE2 A SHAIE 205,320
2 141,600
= 63,720
OdE2ASIAE RAES 14,442
2 9,960
< 4,482
OXtE2 R ZAIIHHI 2 w Al 69,600
2 48,000
< 21,600
OLt=2 ZAIAIE 11,600
2 8,000
== 3,600
MEXSFHA AE2IG(H2) 384,569 641,219 A 256,650
= 265,220
< 119,349
403 MM E X201 H 384,569 641,219 A 256,650
= 265,220
= 119,349
01 XXM A2 £ 384,569 641,219 A 256,650
OME BT 83,520
= 57,600
= 25,920
OREIZANE (=) 3,480
= 2,400
< 1,080
Ot s AIAE Salz 44,109
= 30,420
= 13,689
ORHZANE(ZBHIIXZ) 11,600
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< 3,600
OJIHE &2 MFALLE(5H) 9,860
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MEDNSEY L TAH(KE) 928 464 464
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O&=dstE LR 2,411,460
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201 Let24d] 9,986 9,986 0
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sz SN AP
ZHE MEANESY
NEEETE CER-ED
- _ — d =
SN P SAGEH) - HRAY - BYS 0] &k o4 e HlDE2
Qe d4sE=3 Mg 79,000 0 79,000
= 70,000
< 9,000
403 UHXISHHSA=0l& 79,000 0 79,000
= 70,000
< 9,000
01 HXESHMA=LE L 79,000 0 79,000
OU#AX M4E=H A 79,000
= 70,000
< 9,000
MEMUEHER ALY 128,999 0 128,999
= 114,303
< 14,696
403 MtXISHH S0l & 128,999 0 128,999
= 114,303
< 14,696
01 X SN2 L= 128,999 0 128,999
OtEMEI=3 128,999
= 114,303
< 14,696
MBS EIEH EOt 7,268 0 7,268
2 6,440
< 828
308 MtXIEHMSOIH 7,268 0 7,268
2 6,440
= 828
01 HXNHHNBHEELS 7,268 0 7,268
OKE=d Etgd Eot 7,268
2 6,440
< 828
S=8HAtE 86,400 86,400 0
308 XX EHSOIA 86,400 86,400 0
01 HXNHHNBMNEELS 86,400 86,400 0
25+ HIAY 86,400
M3 AHIAZ0F o1& H| 16,400 26,000 A 9,600
= 16,400
308 XXM SOl A 16,400 26,000 A 9,600
= 16,400
01 IXNHHBNEES 16,400 26,000 A 9,600
OAtg Al AZ0F 215 I 16,400
= 16,400
gt E YAl 500,885 547,588 A46,703
= 396,849
< 104,036
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U
W
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x
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u
i
=
S

A= BHAME £ LHE
MY ANY MENESH
& MEEAES (cho &)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ol At o %Ei HR=2
308 XHXIEHSO|A 500,885 547,588 N46,703
= 396,849
& 104,036
01 AIXSHMEMNEX= 500,885 547,588 N46,703
Ot s 2A 500,885
= 396,849
=} 104,036
AUSHESY eH 550,114 568,722 18,608
= 510,455
& 39,659
308 XHXIGHH SO0l & 550,114 568,722 18,608
= 510,455
& 39,659
01 IXHHNIMNEXS 550,114 568,722 A 18,608
OAalLt2MAsY 2H 550,114
= 510,455
= 39,659
AUSHESY OlSSazA 227,656 218,504 9,152
= 175,120
o= 52,536
308 XX SHHSOIH 227,656 218,504 9,152
= 175,120
=} 52,536
01 AIXSHMEMNEX=Z 227,656 218,504 9,152
OAUEMAEEY Olstsz2h 29 227,656
= 175,120
& 52,536
AUEMASYE OlsSAOIMI 2 86,900 173,800 A 86,900
= 77,000
o=t 9,900
403 XX SHHS K20 ™ 86,900 173,800 A 86,900
= 77,000
o=t 9,900
01 AIXISHHMA=Z2E X 86,900 173,800 A 86,900
OAUEMESEY 0lsSAIIMI 2 86,900
= 77,000
o= 9,900
==X 26,000 26,000 0
= 20,000
= 6,000
308 MXISHHMSOIA 26,000 26,000 0
= 20,000
& 6,000
01 AXHHIMNEXS 26,000 26,000 0
Ox==sdgz 26,000
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U
W

i
x
>

u
i
=
S

A= BHAME £ LHE
MY ANY MENESH
& MEEAES (9 ® =)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ol At o %Eﬁ HR=2
= 20,000
& 6,000
MNEHWMS WM 763,921 568,750 195,171
= 587,633
= 176,288
308 XAHXIEHSOIA 763,921 568,750 195,171
= 587,633
= 176,288
01 AIXSHMEMNEX= 763,921 568,750 195,171
OtreldEalls WMt &F 763,921
= 587,633
=} 176,288
MEHEHES DAY P2 20,181 20,020 161
= 15,528
& 4,653
403 XX SHHS K20 & 20,181 20,020 161
= 15,528
& 4,653
01 MXHHE2E = 20,181 20,020 161
OKteldols L HEH 2 20,181
= 15,528
= 4,653
AUSMAEY HEXZAE 75,133 66,773 8,360
308 XX SHHSOIH 75,133 66,773 8,360
01 AIXSHMENEXZ 75,133 66,773 8,360
OAUSRMESY OEXARA 75,133
CA MEH | Es4 ord 22| 85,800 0 85,800
= 66,000
& 19,800
308 AMXISHHMSOIA 85,800 0 85,800
= 66,000
& 19,800
01 MIXHHIMNEEXTS 85,800 0 85,800
O MaEdH | E54 oF& 22 85,800
= 66,000
& 19,800
METRAXY 53,500,048 53,380,054 119,994
= 25,362,451
J| 14,098,200
= 14,039,397
M =4 4,670,001 4,977,673 N 307,672
= 3,451,761
o= 1,218,240
403 XX SHHS X201 A 4,670,001 4,977,673 N 307,672
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A2 BINEYR SN MESXD
MY ANY MENESH
Col: METIR TN (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
= 3.451.761
< 1,218,240
01 AXISHHA=2E = 4,670,001 4,977,673 A 307,672
OZHg =4 4,670,001
= 3,451,761
< 1,218,240
rggE Bs57¢ 4,731,099 4,978,388 A 247,289
= 4,731,099
206 = Hl 4,731,099 4,978,388 A 247,289
= 4,731,099
01 MHZ 4l 4,731,099 4,978,388 N 247,289
OozxgE B=5+7¢ 4,731,099
= 4,731,099
2UExE 1,174,810 1,104,323 70,487
= 903,700
< 271,110
403 MHXSHHSA=0l& 1,174,810 1,104,323 70,487
2 903,700
< 271,110
01 X SHMA2E X 1,174,810 1,104,323 70,487
ozZuse =¥ 1,174,810
2 903,700
< 271,110
OIAIEX H&EE2d 429,000 443,300 A 14,300
J| 330,000
< 99,000
403 MtXISHH S0l & 429,000 443,300 A 14,300
J| 330,000
= 99,000
01 X SHHA=2E = 429,000 443,300 A 14,300
OO0INMEZX M&XE 429,000
J| 330,000
< 99,000
NEEs =8 202,964 823,396 A 620,432
= 156,127
= 46,837
403 A X EHHS =0l A 202,964 823,396 A 620,432
= 156,127
= 46,837
01 X EHHM A= LE L 202,964 823,396 A 620,432
OXY9Es =4 202,964
= 156,127
< 46,837
QEMAIP TS (EXN ) 6,324 5,981 343
= 5,600




4= sFael SN aE=STD
MY ANY MENESH
Col: METIR TN (St &)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Ei HR=2
= 724
308 XX G SO0l & 6,324 0 6,324
= 5,600
= 724
01 AIKSHHENMNEXZ 6,324 0 6,324
SEMAD|IBIXIAH (ELINE) 6,324
= 5,600
& 724
258 & 7¢ 13,600 14,000 A 400
201 et 9| 3,600 4,000 A 400
03 Al HH| 3,600 4,000 A 400
OoXgE, 22 S 2¢ 3,600
206 M EHl 6,000 6,000 0
01 XHZ HI 6,000 6,000 0
oRrs #¢ 6,000
301 et A =2 4,000 4,000 0
09 SHAIAHI X &2 4,000 4,000 0
OQAlZAUSMAL 2 (S AIE 22) 4,000
I =IRJ| 17,810,611 12,061,056 5,749,555
= 13,700,469
= 4,110,142
403 XX SRS R20| & 17,810,611 12,061,056 5,749,555
= 13,700,469
= 4,110,142
01 AXESHHI2E X 17,810,611 12,061,056 5,749,555
OFMEIRD| 17,810,611
= 13,700,469
== 4,110,142
=1 3R)| NRFEZALS (X L) 340,053 342,375 N2 ,322
= 263,760
= 76,293
308 AXIEHSOIA 340,053 342,375 N2,322
= 263,760
= 76,293
01 AIXSHMENMNEX=Z 340,053 342,375 N2, 322
O=IRI| ANHEEZAS (X)) 340,053
= 263,760
= 76,293
OIMSA M2 =280 793,260 863,772 NT0,512
J| 610,200
& 183,060
403 XX SHHS K20 & 793,260 863,772 NT0,512
J| 610,200
& 183,060
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u
i
=
S

A= g34g £ &g
MY ANY MENESH
Col: METIR TN (St &)
= - — SHE]|
22N I BI(EH) - HRAY - BES e bl D=2t
01 HXSHMA2E X 793,260 863,772 AT70,512
OB0IMHX H& =otRD| 793,260
J| 610,200
< 183,060
ASIHIOI0HA 2T 792,714 733,651 59,063
= 612,780
< 179,934
308 XtXI & HI S0 & 792,714 733,651 59,063
2 612,780
< 179,934
01 AXHHILEES 792,714 733,651 59,063
O& B0l A stEE 792,714
= 612,780
S 179,934
= RIIWEE 873,241 922,906 AN 49,665
= 679,416
< 193,825
308 XHXI € H S0l & 873,241 922,906 149,665
= 679,416
< 193,825
01 AXSHBLELS 873,241 922,906 AN 49,665
O=JtRI WEES 873,241
= 679,416
= 193,825
YAIIHEH B3 42,900 0 42,900
= 33,000
< 9,900
403 MtXSHHS =0l & 42,900 0 42,900
= 33,000
< 9,900
01 X SHMA=2EE 42,900 0 42,900
OZYIAHEH 25 42,900
= 33,000
< 9,900
=M Uss UsZ2 24 ,508,000 1,281,000 227,000
J| ,508,000
403 XIS E X201 H ,508,000 1,281,000 227,000
J| ,508,000
01 X SHHXN2E= ,508,000 1,281,000 227,000
O=M41I3 Usslisd =24 ,508,000
J| ,508,000
MBNUAS RO (SA=sX 223 )(HEAY) 130,023 123,579 6,444
308 A EHHSOIA 130,023 123,579 6,444
01 HXSHBARES 130,023 123,579 6,444
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U
W
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x
>

u
i
=
S

sgFarg £ &g
ZHE NS EY
NEPEESE SEREED)
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
OMBNBIAE R0 (ZAI=sXI2EH) 130,023
MEBNUASR0(HA=ICIUOIH)(MSAE) 57,788 54,923 2,865
308 XXM SOl A 57,788 54,923 2,865
01 IXNHHBNEES 57,788 54,923 2,865
O MEIAE R0 (&= ACIUIOIE) 57,788
SAbEZ= =4 5,850,000 6,500,000 A 650,000
J| 4,500,000
< 1,350,000
403 Mt S E X201 & 5,850,000 6,500,000 A 650,000
J| 4,500,000
< 1,350,000
01 X SHHX2E= 5,850,000 6,500,000 A 650,000
OZAtHE2Z2=s =4 5,850,000
J| 4,500,000
< 1,350,000
OIAIYX XtE=s =4 4,550,000 4,777,500 A 227,500
J| 3,500,000
S 1,050,000
403 UHXSHHSA=0l& 4,550,000 4,777,500 A 227,500
J| 3,500,000
< 1,050,000
01 X SHMA2E X 4,550,000 4,777,500 A 227,500
ODIMEX XUHtE= =4 4,550,000
J| 3,500,000
= 1,050,000
AQLEJNE &X(XE) 253,500 214,500 39,000
= 195,000
< 58,500
403 MRS E X201 E 253,500 214,500 39,000
= 195,000
< 58,500
01 XM A=2EE 253,500 214,500 39,000
OADNEIE EXAY 253,500
= 195,000
< 58,500
TA= ZH(HEAY) 1,132,000 1,673,000 A 541,000
403 A X EHHS =0l A 1,132,000 1,673,000 A 541,000
01 X HHMA=ZLE L 1,132,000 1,673,000 A 541,000
OZAN= =4 1,132,000
N2 DL (HEAY) 2,228,000 1,819,000 409,000
403 UHXSHHSA=0l& 2,228,000 1,819,000 409,000
01 HXSHMA=E X 2,228,000 1,819,000 409,000
OXNgEH =4 2,228,000
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#2408 SN A
AHEY GBS
NEPT-EX:

U
W

i
x
>

u
i
=
S

= - — SHE]|
22N I BI(EH) - HRAY - BES e bl D=2t
AEAY EHIIRIA =9 3,000 3,000 0
201 £B-2d| 3,000 3,000 0
01 At 22l 3,000 3,000 0
O&EAY EIRIA = 3,000
LetZ2 233 4 N& 23,500 23,500 0
201 L2l 5,600 5,600 0
01 At 2t 2l 350 350 0
ouctZ 233 (XA AR =& 350
03 &AL Z I 5,250 5,250 0
OlictZ 223 SE(AANSE 5,250
303 L& 3 1,000 1,000 0
01 Z4& 3 1,000 1,000 0
OLictZ 223 SE(HANSE A&3 1,000
403 MHXISHHE X201 E 16,900 16,900 0
01 AXSHMA=2EE 16,900 16,900 0
OuetE 223 4 & 24X 2l 16,900
fIssbtxd 130,000 130,000 0
= 100,000
< 30,000
403 A X EHHS =0l A 130,000 130,000 0
= 100,000
< 30,000
01 X HHMA=LE L 130,000 130,000 0
OfZstsdt =4 130,000
= 100,000
< 30,000
SN 2 64,660 124,800 A 60,140
= 49,739
S 14,921
308 XX EHSOIA 64,660 124,800 A 60,140
= 49,739
= 14,921
01 AXNSHHBLEES 64,660 124,800 A60, 140
OZAN= - Zaaee 29 64,660
= 49,739
< 14,921
Eers dels 24 (BX) 520,000 520,000 0
J| 400,000
< 120,000
403 MtXISHHE X201 E 520,000 520,000 0
J| 400,000
< 120,000
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4= sFael SN aE=STD
MY ANY MENESH
Col: METIR TN (St &)
= _ - 4 &
SERE L RE-ERY=E1C PRy EVI-RE-EL 0f o e HI D52
01 HXSHH =R 520,000 520,000 0
OXtydets Oels &4 520,000
Jl 400,000
= 120,000
MUY = Xd(XF) 3,575,000 1,625,000 1,950,000
Jl 2,750,000
S 825,000
403 TtXI M SA=01A 3,575,000 1,625,000 1,950,000
Jl 2,750,000
& 825,000
01 XM IHE 2 x 3,575,000 1,625,000 1,950,000
odzaxd £ 24 3,575,000
Il 2,750,000
S 825,000
Magaxd £ 24(2F) 1,000,000 0 1,000,000
Jl 500,000
S 500,000
401 AlEHIZ 208 1,000,000 0 1,000,000
) 500,000
S 500,000
01 A€ dl 1,000,000 0 1,000,000
odguxd = X4(HF) 1,000,000
Jl 500,000
S 500,000
HE MEIFHX 2¢ 360,000 0 360,000
= 300,000
= 60,000
403 TR M SA=01H 360,000 0 360,000
= 300,000
= 60,000
01 HXSHH =R E 360,000 0 360,000
OdEMeEBEHN 24 360,000
= 300,000
& 60,000
A= s7EE 117,000 0 117,000
= 90,000
S 27,000
403 AR SHHMSTHZ0lH 117,000 0 117,000
= 90,000
= 27,000
01 XM 2= 117,000 0 117,000
Ott=lloi=7 =8 117,000
= 90,000
S 27,000
QSN JIBEL (22 MHHAIL) 117,000 0 117,000
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A2 BINEYR SN MESXD
MY ANY MENESH
Col: METIR TN (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
= 90,000
= 27,000
403 X SHHS =0l & 117,000 0 117,000
= 90,000
= 27,000
01 XM A2E X 117,000 0 117,000
OR=SME JIBt L (22 MHAIE) 117,000
= 90,000
< 27,000
MEEE &X2te 12,010,101 24,593,881 A 12,583,780
= 1,103,854
s 6,177,000
= 4,729,247
Fug SHEY 22y 260,400 263,760 ~3,360
2 186,000
< 74,400
403 XIS E X201 & 260,400 263,760 A 3,360
= 186,000
= 74,400
01 X SHHA2E = 260,400 263,760 A 3,360
O8Eg RIS LY 260,400
= 186,000
< 74,400
MBS SHES 2 52,000 39,000 13,000
=2 40,000
< 12,000
403 A X EHHSH20lA 52,000 39,000 13,000
= 40,000
< 12,000
01 XM A= LE L 52,000 39,000 13,000
OMEIEXE SHEIZLH 52,000
= 40,000
< 12,000
SHHE S22 NEHH (XA 16,848 14,950 1,898
= 12,960
< 3,888
308 XX EHSOIA 16,848 14,950 1,898
= 12,960
< 3,888
01 IXNSHHBNEES 16,848 14,950 1,898
OSMHHE Sl XA (XH) 16,848
= 12,960
< 3,888
SHHE S22 NEBH(2Y) 1,728 2,300 ABT2
= 864
< 864
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4= sFael SN aE=STD
MY ANY MENESH
Cl: MEHEE AtXlI2e] (SH9: &)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ol At o %Eﬁ HR=2
202 o4 | 1,728 2,300 N572
= 864
& 864
01 2L I 1,728 2,300 A572
OSMME S22 NEHB(HE) 1,728
= 864
=} 864
AT AIY EIEA I} 15,714 14,285 1,429
g 11,000
& 4,714
201 et d| 13,500 13,000 500
g 9,450
& 4,050
01 AP 22| d| 13,500 13,000 500
OLETAY EIZEEHI = 13,500
g 9,450
= 4,050
202 044l 2,214 1,285 929
g 1,550
o= 664
01 2L I 2,214 1,285 929
O AY EIEAEEHIE oyl 2,214
Ry 1,550
= 664
AT A (AHEAE) 7,046,857 4,992,000 2,054,857
Fag 6,166,000
& 880,857
403 XX SHHS K20 & 7,046,857 4,992,000 2,054,857
Fag 6,166,000
o=t 880,857
01 XIS A=Z2E X 7,046,857 4,992,000 2,054,857
O AE(AEAE) 7,046,857
g 6,166,000
= 880,857
AFAFER & & O B 360,470 346,986 13,484
= 248,600
= 111,870
308 MXISHMSOIA 360,470 346,986 13,484
= 248,600
= 111,870
01 IXHHIMNEEXTZ 360,470 346,986 13,484
OXLFAFE & & 0] 2+ & 360,470
= 248,600
& 111,870
AFAMER F XS HEXE AX 48,000 48,000 0
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A2 BINEYR SN Y=
M AR MAXARH
Cl: MEHEE AtXlI2e] (SH9: &)
L=
AR .24 - FHH .G (3H) - NSAY - BES Ol &F o4 ﬁlgﬁ HRE2
403 XX SHHS K20 & 48,000 48,000 0
01 AIXISHHMA=Z2E X 48,000 48,000 0
OLFAFE 2 XY =X &K 48,000
UT AL RANBS(TEALY) 2,160,000 1,522,000 638,000
403 XX SHHS K20 & 2,160,000 1,522,000 638,000
01 XIS A=Z2E X 2,160,000 1,522,000 638,000
OLETANE RANES 2,160,000
SHEME S M (HEAIY) 1,260,900 0 1,260,900
403 XX SRS R 20| & 1,260,900 0 1,260,900
01 AXESHHIE2E X 1,260,900 0 1,260,900
O=2SM2StHER =4 1,260,900
AFARER CHEHAME AL ZAH| 1,000 1,000 0
201 et d| 1,000 1,000 0
01 A2t 2| bl 1,000 1,000 0
OXLFAFEN CHEEAMEHAL Z ALY 1,000
SMTHIHE SZ 0ol HZAY(EX) 226,625 173,950 52,675
= 185,000
o=t 41,625
403 XX SHS K20 & 226,625 173,950 52,675
= 185,000
& 41,625
01 XIS AE2E X 226,625 173,950 52,675
OANMMF SHIH H2AHE 226,625
= 185,000
o= 41,625
APAFEH A 224X AEf A 312,585 0 312,585
= 240,450
&< 72,135
308 ANXISHHMSOIA 312,585 0 312,585
= 240,450
= 72,135
01 HXHHIMNEXS 312,585 0 312,585
OAEALEY &4 2 XS ALEH X A 312,585
= 240,450
= 72,135
S dH22 246,974 0 246,974
= 189,980
= 56,994
308 AHXIEHSOIA 246,974 0 246,974
= 189,980
o=t 56,994
01 AIXSHMENMNEX= 246,974 0 246,974
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A2 BINEYR SN MESXD
A ZHE MERNIFSH
Cl: MEHEE AtXlI2e] (&)
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
O=N+~% 22 - 2ol 246,974
= 189,980
< 56,994
23Ed 19,125,125 24,376,280 25,251,155
= 1,165,555
ras 5,989,000
< 11,970,570
Aosey &4 1,050,000 1,500,000 A 450,000
as 700,000
< 350,000
403 MtXISHH S0l & 1,050,000 1,500,000 A 450,000
as 700,000
< 350,000
01 XM A=2EE 1,050,000 1,500,000 A 450,000
Olgsady =4 1,050,000
s 700,000
< 350,000
s S HSAY 55,250 0 55,250
= 42,500
< 12,750
308 XtXIEHH SOl A 55,250 0 55,250
= 42,500
= 12,750
01 HIXNHHBHEELS 55,250 0 55,250
O s2E =g Moll HEAY 55,250
= 42,500
< 12,750
ARz 2L (HEAY) 1,794,000 1,430,000 364,000
403 X SHHSA=0l& 1,794,000 1,430,000 364,000
01 X SHMA2E X 1,794,000 1,430,000 364,000
OXms= =4 1,612,000
OXRoA= 2= 182,000
MU AE RO (AE X KX T AL 239,200 179,400 59,800
= 184,000
< 55,200
308 MHXIEHSOIH 239,200 179,400 59,800
= 184,000
< 55,200
01 AXNSHBLELS 239,200 179,400 59,800
OB MEIAZ R0l (ME XX Z A 239,200
= 184,000
< 55,200
S MEIAZR0I (=0l &0t) 378,730 348,075 30,655
= 291,335
= 87,395
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E—E,ll =} - (A= |
MY ANY MENESH
S FYRHSA (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
308 X EHSOIA 378,730 348,075 30,655
= 291,335
< 87,395
01 HIXNHHBHNEELES 378,730 348,075 30,655
Ot MEIAZ 20l (=di &0t) 378,730
= 291,335
< 87,395
MEBNUAZSR0(ROIEUR) 419,540 250,339 169,201
= 322,720
=) 96,820
308 XXM SO A 419,540 250,339 169,201
= 322,720
=) 96,820
01 AXHHBILEES 419,540 250,339 169,201
OUEMEIAZER0I(ROI=L]) 419,540
= 322,720
< 96,820
MBNUAS R0 (LS MXSAND(HEAY) 144,470 137,313 7,157
308 MtXIEHMSOIH 144,470 137,313 7,157
01 HXNHHNBHELS 144,470 137,313 7,157
OMBMHIAZS R0 (2L SLXT AL 144,470
A MHAZ RO (ME 22 Q) (M EAY) 72,235 68,653 3,582
308 A EHSOIA 72,235 68,653 3,582
01 HXNHHNBHNEELS 72,235 68,653 3,582
OB MEIAZR0| (=MEF 22| 2l) 72,235
MEMEHOIS 2H0HUAN 130,000 123,500 6,500
= 100,000
< 30,000
308 XXM SO0l A 130,000 123,500 6,500
= 100,000
< 30,000
01 IXNHHBNEES 130,000 123,500 6,500
OL=MEIDIES 2H0LIN 130,000
= 100,000
< 30,000
=2 Tz (MEAY) 403,000 393,000 10,000
403 XSS X201 & 403,000 393,000 10,000
01 AXSHHMA2E = 403,000 393,000 10,000
OMEd sS4z Hl 403,000
NS S3t sdl2 D8 (HeAY) 520,000 884,000 A 364,000
403 MHXHHSA=0l& 520,000 884,000 A 364,000
01 X ESHHMA2LE L 520,000 884,000 A 364,000




M ox
40 5 4

#2483 SN AYSRD
AHEY GBS
£Y2HEH

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OXNEEs 2d2 =4 520,000
COIE-E2EE2 =2 D4 (HAY) 650,000 325,000 325,000
403 MtXSHHE X0l E 650,000 325,000 325,000
01 AXISHHA=2E = 650,000 325,000 325,000
ozntg-ggetz =2 =4 650,000
2|4 Sl 2 - 2l (HEAMY) 104,000 88,000 16,000
308 XtXIEHH SOl A 104,000 88,000 16,000
01 X HHBLEES 104,000 88,000 16,000
el SdlE 29 - 2l 104,000
MNEWSHE IS (MEAY) 1,140,000 1,300,000 A 160,000
403 A X EHHSH=0IA 1,140,000 1,300,000 160,000
01 X ESHHMA=2LE L 1,140,000 1,300,000 A 160,000
OgdXl = gdstn HE 1,140,000
SOI=MEA 5 (HeAY) 96,200 96,000 200
403 X SHHS =0l & 96,200 96,000 200
01 HAXSHMA=2EE 96,200 96,000 200
OEdE ROI=HER =4 96,200
S MEXAL XHAHSH(H A 162,500 0 162,500
= 125,000
< 37,500
308 XXM SOIA 162,500 0 162,500
= 125,000
= 37,500
01 AXHHILEES 162,500 0 162,500
ORE LIS ItarsH(A4) 162,500
= 125,000
< 37,500
25 MEXAL XHAHSH(XI ) 130,000 0 130,000
= 100,000
< 30,000
403 A X EHHSH20IA 130,000 0 130,000
= 100,000
< 30,000
01 HXSHMA=LE L 130,000 0 130,000
ORE LTS Xtatsh(X2) 130,000
= 100,000
< 30,000
&S ZSHE A 50,000 50,000 0
307 izl & 50,000 50,000 0
04 QIZFHALAIH E = 50,000 50,000 0
O4te Z st At 50,000
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4= sFael SN aE=STD
MY ANY MENESH
oo EASIHSA CER-ED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 gﬁ‘&i HR=2
MEXNS SEE I 2H 30,000 30,000 0
308 XAHXIEHSOIA 30,000 30,000 0
01 AIXSHMENEX= 30,000 30,000 0
OMteElXI® g 2T 249 30,000
=Mgns X 20,000 20,000 0]
307 2iz2tol A 20,000 20,000 0
02 QIZFA AAIE E X 20,000 20,000 0
Odguns XA 20,000
= =old dHU3 XN 15,000 15,000 0
307 QI2t0| & 15,000 15,000 0
04 CIZ2tSHAFALS B = 15,000 15,000 0
O==2 =l ZAUG 15,000
QoA EY L L (HEAIY) 987,500 6,250,000 N5,262,500
403 XX S M S K201 & 987,500 6,250,000 N5,262,500
01 MHXSHAHXNE2E X 987,500 6,250,000 N5,262,500
O HE FdZ =4 987,500
ASIYEZ AL XA (MEAIY) 585,000 130,000 455,000
403 XX SHHS K201 & 585,000 130,000 455,000
01 XIS A2 X 585,000 130,000 455,000
ONtEYIE=AIE =H 585,000
ANAsets 22 7,933,500 7,042,500 891,000
g 5,289,000
= 2,644,500
403 XX SHS K20 & 7,933,500 7,042,500 891,000
Fag 5,289,000
= 2,644,500
01 XIS AZ2E X 7,933,500 7,042,500 891,000
O seg B 7,933,500
= 5,289,000
= 2,644,500
=24 EH82 XA (MEALY) 520,000 130,000 390,000
403 XX S M S K201 & 520,000 130,000 390,000
01 MHXHHNE2BE = 520,000 130,000 390,000
O2s4 gt T4 520,000
BHSIAE AL =2 XA (MEAIY) 1,170,000 130,000 1,040,000
403 XX SHS K201 & 1,170,000 130,000 1,040,000
01 XIS A=2E X 1,170,000 130,000 1,040,000
QUEHGEAE AL =2 X4 1,170,000
A steXs =2 XA (MEAIY) 325,000 65,000 260,000
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AZ: BHUYR SN MESXD
HH: YRES(MY=TD)
Sl RN E
- _ - d =
A .24 - B BAGEA) - NPAY - BES 0] &b 2 e
HEAHHX = 149,000 149,000
705 ==& cl=&e 149,000 149,000
04 Al - EXHHLII S0 == 01 Kt &t &t 149,000 149,000
OS2 M= AL (2020) 149,000
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